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There are some cattle in a field. 16 more come into the 

field. I can now see 67. How many were there to start 

with? ………………… (Badgers like fields of cows. They do 

lots of poos, and the badgers like to root underneath them 

for invertebrates. Lovely!) 

 

The wood in which the badgers live is a perfect square. Its perimeter is 240 metres. 

How long is each side of the wood? ………………… 

 

The badger group went out for a walk. They walked  for 2 hours 

and 40 minutes. The group stopped for 10 minutes to watch 

some jays feed, 15 minutes sitting quietly to let some roe 

deer feed and cross in front of them without scaring 

them, and spent 35 minutes eating lunch. How long does 

their walk take them in total? ………………….. 

 

There are 12 pairs of woodpigeons in the wood. How many woodpigeons altogether? 

………………………….  

Half the pairs have two chicks, the other half have one chick. How many pigeons and 

chicks altogether? …………………. 

There are half as many great tit chicks as pigeon chicks. How 

many great tit chicks are there? ………………… 

 

A spider has made a web near to the badger sett. It 

has 8 legs, (as all arachnids do.) 

How many legs have 7 spiders? ……………… 

How many legs have 15 spiders? ……………….. 

 

 
© Durham County Badger Group 2009  

 

It’s puzzle time folks!  Can you 

work out the answers to these 

wildlife puzzles? 


